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used tllroughoul the paper.
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Attempt a/f questions.
All questions are compulsory.
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1. What is meant by distribution of terms ? Explain with the help of examples.
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Write a brief note on Logical Form. | 5
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Explain the traditional square of opposition.
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If “Some politicians are artists’ is (i) true and (ii) i’alse, determine the truth or fe}]sity of ’

its opposites. 9
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Change the following propositions as -directed - (do any three) :. | 6
() No workers are kings. (Converse)

(#1) Some books are not best-scllers. (Obverse)

(éif) Al boxes are objects. (Contrary)

(v} Some scientists are painters. {Sub-contrary)
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Use the truth table method to test whether the following are tautologous, continigent or

condracitory. (Do any one) : 7 5
B [p=@vnl=>[p>@Qvi
@ pva>r1> [(p . @) = 1]
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(a) Symbolise any three of the following : 3

(i) If you go to Madurai, then if you visit Meenakshi Temple, get prasadam for

me.
(i) Archana will dance only if both Kavya ard Navya sing.

(fi) Not both Shyam and Meenal will go for he party.
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(a)

(b)
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(iv) It is not true that neither James nor John won.

If A and B are true, X and Y are false, determine the truth or falsity iof any one

1

of the following : 2
M [(A.~Y)v~Bl=X>Y)

() [X DB v Y)]=(AvB) |

frefafen 4 @ fF @9 & sl 4 fefar -

@ AR g TGS el @ A g det 9k ww @, R fee yHRm @
@) AN T FU Faw Ay wem o qem S W
(fif)mﬁnﬁﬂaﬂﬁéﬁﬁ?ﬁﬁﬁﬁr
et 12 L. E.EEE.E 1

o A s B W ¥ oA x v me @ Frefafen § R 6w A

mawmﬁﬁfﬁﬁﬁf‘m:
B [(A.~Y)v~B=X>Y)

() [X 2 (B v Y)] =(Av B)

Use the truth table method to determine the validity/invalidity of any onell of the

following . 5
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Use the shorter truth table method to determine the validity/invalidity of any swoe of the

following : 10
() Lv M

M o N

LoK

fooN v K
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~Q v P

/= P~ P
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8.  Construct a formal proof of validity for any two of the given arguments, usihg only th¢

nine rules of infefence : 10
M) (AvB)oC

(Cv By o [A > (D > E)]

A-D
/7. D>oE
(in F > ~0G

~F>H >~ 0)

(~1v-~H) o~~G

(i) (N v O)o P
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Define the following in terms of the stroke function (do any one) : 5
N pvig>p
(if} (p vV Gy D o~r
Detine the following in terms of negation and disjuncticn o in terms of fiegation and

conjunction (do any one) : | 5
B (> q v (~p - ~q

Gij (P 2 g) (g 2 p)
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Symbolise the following using quantifiers and the notation of propositional funétions :

(any five) : _ a 10

()

(i)

Only members can use the lawns for party.

Children are never noisy.

P.T.O.
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(i) All that gliters is not gold
(i) All except so']dicrs are well-paid
{(vy A few dogs are huge
{v/) Most houses are mdde of bricks
(wii) Children are painting
(viiry Orchids are not fragrant.
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